WORKSHEET: AVCE Business Studies Unit 3 : Marketing


Link to case study

Lloyd’s

How Lloyd’s is responding to changes in the business environment

Using the Case Study:

1. 
Lloyds is primary business activity. What are the four major changes to the external business environment, which face Lloyds?

a)

b)

c)

d)

2. Mix and Match to the correct boxes (3 marks)

Brokers





Who accepts risks

Underwriters




Individual Business Units

Syndicates 




Act on behalf of clients

3. 
Identify and explain four reasons as to why Lloyd’s have developed a strong reputation in the insurance industry. (8 marks)

4. 
What does the acronym PESTLE stand for? (5 marks)

5. 
MIX AND MATCH to the correct box


P
Rising house prices


E
Terrorism


S
Global Warming 







T
Nanny Protection 


L
Computer Viruses 


E
Compensation Culture

